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1. %% & #°3](von Neumann Model) 28 8 B3 & chpe § 230 g o

(A)is- 8L 4 7 (B) & 5 A7 5¢ (C)= 4 #c# 77 (D)X {7 A2 (E)ig * 3+ ¥
2. TR ApEEemNET 2

(A) JAVA (B) C++ (C)C (D) C# (E) Smalltalk
3. LR AT, F AEf FRAKFIE HBEE T

(A H1E ~ (B)ALU (C)= it D)+ & (E)sk
4, BREFERDSYRFBHID A FGHL_ -

(A) TCP/IP (B) WCDMA (C) ADSL (D) VDSL (E) ISP

5. T A M A fedn £ B 2 (CISC) ot i 4p £ B EHE(RISC) et fi > fr ok 5 29
(A)RISC thify £ i » w4738 & ffe
(B) CIsC wd‘ﬁ CPU & * ¥ i g2 % thip 4
(C) x86 & x50 CPU >t CISC % 4
(D) CISC sh T B3k 35 i B - & & s 1t i
(E) ARM i e fp >t RISC % #
6. FR TSP ak o K F IR R E L E P ak ?
(A) 168.95.192.1
(B) 140.112.1.2
(C) 212.365.236.248
(D) 192.168.1.1
(E) 120.107.152.100
7. TRk A TP 3R KT RI BEEL 0 gd KR ke BETR

AR R gk S R A S L
(A) SCM (B) B2B (C) B2C (D) ERP (E) CRM
8. P AMAIEF FHEHM > A S EE AP ARNL 9
(A) e ie 50 (B)F& R st (C)4 i o 50 (D)BE = 3% 058 (E)m oy 2t
9. TAlPE LRI Fud R
(A)FTP (B)SMTP (C)TELNET (D)HTTP (E)HTTPS
10 A - BANEERR S BRI ORI LRI RATY R AARD D T R
%F T PRI A DR o
(A)Z #H3+% BEEFTH (C)4- 7 2 (D) RFID (E) ERP
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11, 3 W 5 8 i~ (bit) = d ficdie 5 3k 5 & i F - (16%)
(1) 11111111 (2) 10000000
12. A w74 ™ 7 B4EE ¥ hE @ £ (truth table) - (10%)
(1) x XOR 'y (2) x AND Yy

13. & ML i ? OSI A7 & 4E > X3P & - § AL - (14%)
14. 7 7 B H F R % L2 (10%)
int sum = 0;
for(inti=1;i<8;i++){
if (i == 3) continue;
if (i ==5) break;
sum +=i;
}

System.out.printin(sum);




